

PAGE	CUST Y	YARD #	INVOICE DATE
1 of 1	1007589	1718	04/15/2015

INVOICE NUMBER 91782954

(620) 672-1201

B HERMAN L LOEB LLC

I PO Box: 838

LAWRENCEVILLE

IL US

62439

o ATTN:

ACCOUNTS PAYABLE

LEASE NAME 0

Petra

1-8

LOCATION

COUNTY STATE

s

т

Kiowa KS-

Cement-New Well Casing/Pi

JOB CONTACT

JOB DESCRIPTION

јов #	EQUIPMENT #	PIIRCHAGE	ORDER NO.		TERMS	DUE DATE
00B #	Egottimit #	1 OKCIMBE				
40832480	19905				Net - 30 days	05/15/2015
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service Dates	:: 04/12/2015 to 04	1/12/2015				
040832480		e				
171811949A Ceme	ent-New Well Casing/Pi (04/12/2015				
Cement 5 1/2" Long						
50/50 POZ		91	250.00	EA	6.60	1,649.88
Celloflake			63.00	EA	2.22	139.8
Gypsum			1,050.00	EA	0.45	472.47
FLA-322			105.00	EA	4.50	472.4
Gilsonite			1,500.00	EA	0.40	602.9
KCL, Potassium Chl	oride		566.00	EA	0.90	509.3
Claymax KCL Subst	itute		5.00	EA	21.00	104.9
Mud Flush			1,000.00	EA	0.90	899.9
"Latch Down Plug 8	& Baffle, 5 1/2"" (Blu		1.00	EA	239.98	239.
"Auto Fill Float Shoe	e 5 1/2"" (Blue)"		1.00		215.98	
"Turbolizer, 5 1/2""	(Blue)"		12.00	EA	66.00	791.
"5 1/2"" Basket (Blu			3.00	EA	173.99	521.
"Cement Scratchers	s Cable Type, 5 1/2"" "		14.00	EA	45.00	629.
"Unit Mileage Chg (I	PU, cars one way)"		45.00		2.70	121.
Heavy Equipment M	ileage		90.00	MI	4.50	404.
	el. Chgs., per ton mil		473.00	EA	1.50	709.
Depth Charge; 5001			1.00		1,727.89	
Blending & Mixing S		DAID	250.00		0.84	209.
Plug Container Util.	Chg.	PAID	1.00	EA	149.99	149.
"Service Supervisor	, first 8 hrs on loc.		1.00	EA	104.99	104.
		APR 2 3 2015				
		SCANNE)			
		58252				
		- vv ~ v				

BASIC ENERGY SERVICES, LP
PO BOX 841903
DALLAS, TX 75284-1903
BASIC ENERGY SERVICES, LP
801 CHERRY ST, STE 2100
FORT WORTH, TX 76102

SUB TOTAL TAX

10,680.51 346.91

INVOICE TOTAL

11,027.42



FIELD SERVICE TICKET

1718 11949 A

F			one 620-672	2-1201			DATE	TICKET NO				
DATE OF JOB	-12-15 0	DISTRICT PI ATT			NEW WELL	OLD F	PROD INJ	□ wDw □ C	USTOMER RDER NO.:			
CUSTOMER	morar L	Lord			LEASE PETTY WELL NO.							
ADDRESS					COUNTY KINY STATE W							
CITY		STATE			SERVICE CI	REW M	471A1, M	91AN, 9.05	11			
AUTHORIZED B	Υ				JOB TYPE:	CAN	510 100	19 55/19				
EQUIPMENT	# HRS	EQUIPMENT#	HRS	EQL	IIPMENT#	HRS	TRUCK CALL	ED 4-1 DAT	E AM TII	ME		
19935							ARRIVED AT	JOB	AM 5	L		
19 412	()						START OPER	RATION	AM (1:1-		
17.89							FINISH OPER	RATION	AM PM	15		
							RELEASED		AM	49		
							MILES FROM	STATION TO WEL	45			
become a part of th	is contract withou	of and only those terms and t the written consent of an o	fficer of Basic E	Energy Se	rvices LP.		SIGNED:	ER, OPERATOR, CONT	Poll	M		
ITEM/PRICE REF. NO.	M	CES US	ED	UNIT	QUANTITY	UNIT PRICE	\$ AMOUN	١T				
CPIUL	50/50 t	, oS				54	300.		2,200	00		
cr In	50/50	POZ				SK	50		550	100		
66 102	Celloti	A 4 -				16	12		737	10		
(6)13	S 41'5 4-					16	1050		787	50		
(())9	1-14 32	3.				16	105		787	50		
CC 201	5,15070					16	1500		1,005	00		
(700	Paragon	(51021)				11)	566	1	849	00		
C1- 607		1 Plug + BAFA	۲			C4			400	00		
CL- 1521	AUTO FI	il Klant Shor				7.4			360	00		
(+ 1901	14130115	C .				64	7		1,320	00		
(F 2001	BASKI	2A31-741				<i>en</i>	14	,	1.050	000		
1001	20001000	1 41							1,000			
(704	CIAYMIA	104				5M1	5 -		175	00		
cc 131	MINU FI	470				921	1,000	•	1,500	00		
										_		
CHE	EMICAL / ACID DA	ATA:						SUB TOTAL				
SIL				SEF	RVICE & EQUI	PMENT	%TAX	K ON \$				
					TERIALS			KON\$				
								TOTAL				
								A	L	1		

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

SERVICE

REPRESENTATIVE



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718 11050 A

11949 CONTINATION OF Phone 620-672-1201 PRESSURE PUMPING & WIRELINE DATE TICKET NO. DATE OF JOB CUSTOMER ORDER NO.: NEW WELL OLD PROD INJ ☐ WDW DISTRICT CUSTOMER LEASE WELL NO. COUNTY STATE **ADDRESS** CITY SERVICE CREW STATE **AUTHORIZED BY** JOB TYPE: DATE AM TIME **EQUIPMENT#** HRS HRS **EQUIPMENT# EQUIPMENT#** HRS TRUCK CALLED ARRIVED AT JOB AM PM START OPERATION AM PM **FINISH OPERATION** AM PM RELEASED AM PM MILES FROM STATION TO WELL CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. SIGNED: (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT)

REF. NO.	MATERIAL, EQUIPMENT AND SERVICE	TINL	QUANTITY	UNIT PRICE	Ξ	\$ AMOUNT		
E100	f. 4. pr. 1-1	V	41	45			202	50
Etol	THATY Of MILE	. 1	mi	90			675	00
E 143	FISH + bulk d.l.	7	m	473			181	25
C = 206.	das In charge 5001-6000	1	441				2,880	00
ce 240	blend + riix charge	(54	250			350	00
C+ 504	They conther	7	5011	1			250	00
5003	541- V.50'	4	24	9			175	00
СНЕ	EMICAL / ACID DATA:				SUB TO	TAL	17,800	85
	MICAL / ACID DAIA:	SERVICE & EQUIPME	NT	%TA	X ON \$			
		MATERIALS		%TA	X ON \$			
					TO	TAL	. 1 / 6/2	, ,
		* ^ .			1	1	10,680	51

1. // // . / / 1	VE MATERIAL AND SERVICE D BY CUSTOMER AND RECEIVED BY:
------------------	--



TREATMENT REPORT

ener				Lease No.					T =			<u> </u>				
Customer	1eIMA			Date	4	_	2-1	5								
	e tia		- 8						·							
Field Order	<u> </u>	P1911				Casing 5	/ ₂ Depth	•	County	K.	'UWA			te V S		
Type Job (nn s	1/2 Lon	ig ST/	Formation 53						Legal Description 8 - 30 ~ 18						
PIP	ORATING	DATA		FLUID (RESUME						
Casing Size Tubing Size Shots/Ft					Acid	ir 25	5 Su3 5	RATE (PRES	SS Bi	ISIP '					
Depth 163	Depth	From	То		Pre						5 Min.					
Volume 7. 9	Volume	From	То	. :	Pad			. <u>Min</u>				10_Min				
Max Press	Max Pres	s From	То		Frac			Avg	Avg			15 Min.				
Well Connecti	on Annulus \	/ol. From	То					HHP Used	HHP Used			Annulus	Pressi	ire		
Plug Depth	Packer De	epth From	To		Flus	h 2 7	2 . 3	Gas Volun	ne ·			Total Load				
Customer Re	presentative	1-1 Polly	/	Station	Mana	ger V c	VIA GO	noley	Treate	rM	ike M	1 atto	1			
Service Units	37586		77686	1990	5		19903	19860								
Driver Names	MATTI		megr.	e w			Coins	υn						•		
Time	Casing Pressure	Tubing Pressure	Bbls. Pui	nped	F	Rate			. ;	Servio	e Log			•		
5.20	/	1	(\)	on 10									
6:50)		$\overline{\zeta}$,	Run 5/2 15.5# casins Bases on 1, 8, 18									
						\	(CAI O^	01 1, 2, 3, 4, 6, 8, 10, 12, 16, 20, 24, 26								
)	Scialchia Un Ji 3, 4, 5 6 FF APPIF									
7:30	5		5		Ź			MINTE AT JT 4U + JT 8U								
9:15	()		_ {			SAY DA BUTTOM								
9:20	<u> </u>		5		(1-1 0UX	TU CSI	14/B1	AK	دزرد	. Riy				
10.17	300	/_	3		_5	•	Pump 5									
10:18	301		24		5		Purit									
10:21	301		5		<u> </u>		Pump !		··					•		
10:22	400		48		(.	2	MIX 2	UU 5K	5 56	ر ار	Por	0 1	4 %	°g.		
10:30		\	4		3		WASH A	Jump +	Line	101	ruse 1	Pluy				
10:34	2 00				6.	5.	31A/i	290	Kel 1	0,51	/Acer					
10:49	4W		85	-	6		Lift P	11354-1								
10:54	600		113		3		510~	rate								
10:57	1500	/	127	3	. <u></u>	···	Plus, Dun, releases + help.							·		
11:05			7,	5			Pluy	(at 4	- Muu	5-	401-					
							cilc.	Thru	丁ック							
										-		104				
												hunu				
						,					•	1, Ke				
								<u> </u>			V	7. Kr	+ 4	A101		
1024	A NIE Lisa	av 61 • F	O Boy	0612	Dvo	+ VC 6	7104 061	2 - (620	1 670	120	1 . Eav	/ (CON)	670	E202		